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IlP/201/1(i) 
No. of Questions: 150 

~<lfr 4~1 : 150 

Time: 2 2" Hours Full Marks: 450 

~:450 

Note: (1) Attempt as many questions as you can. Each question carries 3 
(Three) marks. One mark will be deducted for each incorrect 
answer. Zero mark will be awarded for each unattempted 
question. 

3lf>1'lilf'1'<> wRi '1ft W'I q;f.j 'IiT"lI"'101 <RI ~ WI'! 3 (<iR) aiof; 'liT ~I 
Jlri/<ii 7Tfflf Trf"( c1? ff:m: ~ 3fq; CIiTGT ';1/4'11' ~ "ij'lRd WI'! 'liT 

Q I '<I i 'h l'l"1" ~ I 
(2) If more than one alternative answers seem to be approximate to 

the correct answer, choose the closest one. 

"Ifu: ~'1'<> ~'hf('q'h <f<R -mt <f<R it f.roF;c >r<i\<!.n. <it f1'h~dA -mt <f<R 

~I 
01. Entrepreneurship is a feature of : 

(1) Industry only (2) Trade only 

(3) Business only (4) Selling only 

d<lf4dl ,,","('f8J"'11 ~ : 
(1) ~~'IiT 

(3) ~ "'FH11~ 'liT 

02. Industry creates: 

(1) Form utility 

(3) Place utility 

3 

(2) ~ ixJT'!R 'liT 

(4) ~ fcr;I,'\ 'liT 

(2) Time utility 

(4) Ownership utility 

P.T.O. 
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-zWT 'f'R 'li«IT t : 
(1) "'" dq4lflldl 'liT 

(3) ~ dq«llildl 'liT 

03. Fishing comes under : 

(1) Extractive industry 

(3) Service industry 

l1Wl "YR'R 311<l1 t : 
(1) R"hQol -zWT it 
(3) W'!T. -zWT it· 

04. Foreign trade includes: 

(1) Exporting 

(3) Re-exporting 

~ O!IT'IR it (1fAlf<'ld i : 
( 1 ) f.r<lfu"'R'lT 

(3) gf~4rd"'R'lT 

(2) "Wl'! dq4lflldl 'liT 

(4) "'1f4«1 dq~Wldl 'liT 

(2) Genetic industry 

(4) Continuous industry 

(2) "I1R'h -zWT it 
(4) ~ -zWT it 

(2) Importing 

(4) Exporting of Importing both 

05. Which of the following is not a feature of business? 

(1) .ReguIarity (2) Uncertainty (3) Irregularity (4) Risk 

fi"'lf<'lf@d it B '!it.!-BT 011ii1(114 'liT C'l8:J1lT "1tf t ? 

(1) R4fY<ldl (2). 31f.!f= (3) 3lR4fYddi (4) ;;ilf@4 

06. Which of the following is a source of revenue for business? 

(1) Sales (2) Advertisement 

(3) Transport (4) Insurance 

R"'I f<'l f@d it B '!it.! -BT 011 iii (1 14 i\; 3lJll11 'liT "@o t ? 

(1) ~ (2) fCliillq1 (3) 4Idl"1l<1 (4) oft4T 
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07. Which of the following is not an element of commerce? 

(1) Buying (2) Selling 

(3) Warehousing (4) Production 

f.j"1f<'lfClii if it q;'}.,-m <'IlfiJl"'I "" mq om t ? 
(1) ffi'! (2) fc!ffi'! (3) 'lusHUI (4) di'lI~1 

08. 'Production and consumption go side by side', It is related to : 

(1) Service (2) Mining (3) Agriculture (4) Fishing 

'di'lI~1 q "d'!$r mOl-mOl ~ U <r.r 'll~f"'l<! t : 
(1) WIT it (2)"&'R it (3)"'l'fl! it (4) 'lfl?~YI<'11 it 

09. Direct motivation is a feature of : 

(1) Partnership (2) Sole proprietorship 

(3) Joint venture (4) Company 

"lff'l'll an'l>itun "" i?fl\l"T t : 
(1 ) 'll1~~I{I "" (2) ~ 81lfq(C! "" 

(3) ~ dQ9li'l "" (4 ) ~"" 
10. Personal control is a feature c 

(1 ) Sole proprietorship (2) Partnership 

(3) Cooperatives (4) Private company 

O11fm'liI foj~~ul ~ i?fl\l"T t : 
(1 ) ~ 81 f'@ "" (2) 'll1~~Rl "" 
(3) ,WhiRill "" (4 ) f.r;;ft if; Ill;fi "" 

11. Which of the following is the Oldest form of business organisation? 

(1) Company (2) Public company 

(3) Partnership (4) Sole Proprietorship 

5 P.T.O. 
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f.l'"'lf<?lf@d it' -B ~--.rr ~1'HHf~q; ~ "" ~ >Ifi"fR ~ i ? 
(1) q;"141 (2) ~14ci1f-jq; q;"141 

(3) ~I~",,(l (4) ~ 'ECllf'lN 

12. For which form of business organisation, there is no separate legisla­
tion in India? 
(1) Sole Proprietorship (2) Partnership 

(3) Company (4) Cooperative enterprise 

'l1(dClq it' ~~lq~lf~q; ~ it = tl 'r~ f<I"1R or@i ? 
(1) ~ 'EClif'lN tl (2) ~1~~Rl tl 
(3) q;"141 tl (4) ~"q;I~ dY"'A tl 

13. Which of the following is not a feature of sole proprietorship? 

(1) Individual ownership (2) Individual management 

(3) Unlimited liability (4) Mutual benefit 

A"lf<?lf@d it' -B ~--.rr <'I8JUl ~ 'EClif'lN "" or@i ? 
(1) ~fm'ld 'ECllfi:lN (2) ~ru;'Id"5fif"l 
(3) 3iliilf'1d ~if~N (4) ql{fqRq; <'II'! 

14. Business. includes: 

(1) Commerce 

(3) Trade 

~'1(11~ it' ~f"1f<?ld i : 
(1) qlfUl"'1 

(3) O!!T'W 

15. Selling is an element of : 

(1) Advertising 

(3) Trade 

(2) Industry 

(4) Industry and Commerce 

(2) ~ 
(4) ~ -q:ci qlfUl"'1 

(2) Publicity 

(4) Manufacturing 

6 
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~~mqt: 
(11 f<1>1IY'i 'liT (2) ~ 'liT (3) 0llT':m: 'liT (4) f.fqfuj 'liT 

16. Which of the following is a feature of partnership? 

(1) Continuity of existence (2) Creation of law 

(3) Artificial person (4) Agreement 

H'"1f<.1flSid i( -B ,"",,-"\11 {l1~GI(l 'liT <'f8J1lT t ? 
(1) ~1I~Cld ilif«li'CI (2) f<l'lR 'iii ~ 
(3) ~"01:!fu; (4) @;;i1d1 

17. The minimum number of members for partnership is : 

{l1~Gl(l if; ft;rQ: {lGf'l'f 'iii "L'd~ ~ itft t : 
(1) 2 (2) 7 (3) 10 

18. Uncertainty of existence is a feature of : 

(I) Public company 

(2) Private company 

(3) Partnership 

(4) Public company limited by shares 

a:Jftai'CI 'iii aMffi1<lT ~ <'f8J1lT t : 
(1) {lI<l"lf+'P q;cq-fi 'liT 

(2) f.r;;ft q; cq -fi 'liT 

(3) {l1~<;Rl 'liT 

(4) ai'Iii' &m -mfl:!<I {lI<l"lHq; q;cq-fi 'liT 

(4) 5 

19. In India, the present Companies Act was enforced in : 

(1) 1947 (2) 1951 (3) 1956 (4) 1957 

7 P.T.O. 
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'1R(! i! q<fAI'1 'hA1;j1 alf>Jf.r<rq <'1l'L "[<l1T : 

(I) 1947 i! (2) 1951 i! (3) 1956 i! (4) 1957 i! 

20. The partner who does not have the right to participate in the man­
agement of the firm is called: 

(1) General partner (2) Sleeping partner 

(3) Special partner (4) Nominal partner 

-a; \11~ ~I\ ~ 'l>'f ~ >f'I""l i! ~ Wt 'liT alf'1'lil< 'f@ .mrr, 'h~('1ld Ii: 
(1) \1IAI"1 \11~~I\ (2) W'f \11~~R 
(3) folfu2" \11 ~ ~R (4) '11 A 41 ~ 'liT "\1"';1 ~b~rrl \ 

21. Which of the following is a characteristic of a company? 

(1) Limited capital (2) Limited expansion 

(3) Limited managerial ability (4) Limited liability 

Ryf<'lf@d i! il onR-m 'h"q;jl 'lit f'lil'1dl i ? 
(1) -mfi:r<l ~ (2) -mfi:r<l f'l'RlR 

(3) -mfi:r<l"lf'i~ ~I'~dl (4) -mfi:r<l ~1f~(i5l 

22. Which of the following documents is called the Charter of the Compan? 

(1) Memorandum of Association (2) Prospectus 

(3) Articles of Association (4) Certificate of Incorporation 

fojyf<'lf@d i! il ~ W1'l 'lit 'hA1;j1 'liT "1li1: %T "ITd1 i ? 
(1) wfG <WIT f.!<p:r (2) QF'Iq\OI 

(3) wfG "'hi f.l~ A (4) \1 A I ~ ('1 '1 'liT Jl111UT - 'l"5! 

23. The maximum number of members in a private company is : 

(1) 25 (2) 50 (3) 75 (4) 100 

8 
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24. The meeting which is convened once in the life of the company is 
call~d : 

(1) Meeting of creditors 

(3) Extra-ordinary meeting 

(2) Annual general meeting 

(4) Statutory meeting 

'W <'I'lT -;;It 'hA141 "il; ;;fI'Fi'hlct ii '% 'IR ~ "ITift t 'h~ctlctl t : 
( 1 ) ,,11 ~ I if 'lit <1'lT (2) <1 Iiif'h {11 ~ I '"l <'I'lT 

(3) mrrmur <'I'lT (4) -a"lTf.!q; <'I'lT 

250 Section 2 (28) of the Companies Act defines: 

(1) Prospectus (2) Articles of Association 

(3) Memorandum of Association (4) Company 

'hA141 3lf"lf.l~~ 'lit "IRT 2 (28) 'lft'llfirn q;<Jft t : 
(1) Qf<"1<1{"I'lit (2) ~ 31"''i1!f.Rf<l~.,,~ qij 

(3 ) ~ <iI ~ If" ~~ qij (4) "ifi"A1"'il qij 

26. Cartel is a combination of: 

(1) Distributors 

(3) Retailers 

.~ '% {j~I"I'1 t : 
(1) f<"1d\<'hl' <1iT 

(3) F'h\ f<"1ihdlaTI <1iT 

27. 'Pool' was born in : 

(2) Wholesalers 

(4) Producers 

(2) l!/J'hf<"1s:f;dlaTI <1iT 

(4) MlI~<iI <1iT 

(1) USA (2) Germany (3) England (4) Canada 

''V"'!' <1iT ~ ~il11 I!!T : 

( 1 ) 'l.: 1l;B .1(. ii (2) ""Ilf;jt ii (3) ~ii (4) 'h11",1 ii 

9 PoToOo 
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28. 'Cartel' was born in : 

(1) USA (2) Germany (3) Japan (4) France 

'~' q;] OF'! \'i31T 2!T : 

(1) 'L1l:B'.,<. il (2) "IlRl il (3) "<ijJ<lR il (4) mil 

29. Chamber of Commerce is a form of: 

(1) Federation 

(3) Association 

(1) U'IR q;] (2) Wffi q;] 

30. Holding company is a form of : 

(1) Trade Union 

(3) Trust 

'l!'I>nU 'liUJ'il '<'li ='1 -% : 

(1) Wl <i'l q;] (2) U'IR q;] 

(2) Consolidation 

(4) Amalgamation 

(3) <i'l q;] (4) flf'"'1M1 q;] 

(2) Federation 

(4) Consolidation 

(3) 1F!m q;] (4) Wffi q;] 

31. Circular combination is synonym of : 

(1) Mixed combination (2) Allied combination 

(3) Parallel combination (4) Process combination 

~ ;4if1"11 ~ -% : 

(1) fl:lf~ ;441"11 q;] 

(3) fl~HhH ;441"1'1 q;] 

. , 
(2) ~ Wi,"1'1 q;] 

(4) ~ M'''11 q;] 

32. Which of the following is not a feature of combination? 

(1) Association 

(3) Flexibility 

10 

(2) Common purpose 

(4) Comprehensive process 
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H'"1f<'lf&d if i\ ~-UT fi~!"I'l <!iT <'f8;lUT ~ t ? 

(I) Wr (2) *l1~1"'1 ~ 

(3) "'!"!'lufdl (4) "'1lq", >IflIi<rr 

33. Which of the following is not a feature of management? 

(1) Human activity (2) A process 

(3) A movement for reforms (4) A Social process 

H'"1f<'lf@d if i\ '1it.!-UT ~ <!iT <'f8;lUT -m t ? 
( 1 ) ~ H <iI ~ W!r (2) 1l:<!i" >IflIi<rr 
(3) ~>m: ~ "'1I;;:i1(,H (4) 1l:<!i" *l1~1f"l'" >IflIi<rr 

34. Which of the following is considered the essence of management? 

(I) Planning (2) Coordination (3) Directing (4) Controlling 

H'"1f<'lf@d if i\ f<li*l'h! ~ <!iT w: ~ ""ITdT t ? 
(1) f"~h'l 'lit (2) *l~'<l~ 'lit (3) H~I'l 'lit 

35. Middle level management includes: 

(I) Board of Directors (2) Managing Director 

(3) Branch Manager (4 ) Superintendent 

""mHl~ ~ if *lfAlf<'ld m t : 
(I) H~~I'" ~O$(1 (2) ~ H~~I'" 
(3) =~ (4 ) 31>it~ 

36. Top management includes: 

(I) Supervisor (2) Foreman 

(3) Deputy Manager (4) Chief executive officer 

11 P.T.O. 
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Oti'l >I'Pl fi {j fAJ fcl d -.iRrr t : 
(1) ~&1"'1> 
(3) 6'1~ 

37. Universality is a principle of : 

(1) Management 

(3) Rationalisation 

{j <-1"'11 q <Ii d I 1l:'Ii f'ii OIihl t : 
., 

(1) >I'Pl 'liT (2) {j~ 1"1'1 'liT 

38. F.W. Taylor was born in : 

(1) France (2) USA 

1l;!i. ~ ~ 'liT "F'l g31T : 
(1) >nffi fi (2) 'i,<':B.1(. fi 

(2) 'hl,~'1 
(4) '3;19'f 31f~ 31f>l'lilU 

(2) Combination 

(4) Pool 

(3) England 

(3) ~fi 

(4) Germany 

(4) "flf;ft fi 

39. "Science, not rule of thumb." It is a principle of: 

(1) Scientific Management (2) Rationalisation 

(3) Combination (4) Traditional Management 

"fcr.rr'1, "l foI; 3fTlR I" <r6 1l:'Ii f'iiOliI'fl t : 
(1) ~,"IR<Ii >I'Pl'liT (2) fc(~,*l<1i,ul 'liT . , 
(3) (j~I"I'1 'liT (4) q,PHI'ld >I'Pl'liT 

40. Which of the following is related to planning and controlling both? 

(1) Policy (2) Strategy (3) Budget (4) Rule 

R"1fclfMfi U 'liR-w R~I"I'11(Ci R431 UI ~ U ~'4f.-,," t ? 
(1) -;ftfu (2) ,ul41i11 (3) ~ (4) f.1<rq 

41. Who can be a manager? 

(1) Person (2) Trust (3) Company (4) Minor 

12 



~ q;'j-;, 1i\ ~ t ? 
(I) ~ (2)"lF'!ffi 

42. Which of the following is an untrue statement? 

(1) Management is a discipline 

(2) Management is a process 

(3) Management is an open system 

(4) Management is a closed system 

Ryf<'1f@d # B q;'j-;,-W q;'R 3m<"! t ? 

llP/201/1(i) 

(4) '1 I .. If"p 1 

(I) lI<PT ~ m>n t (2) lI<PT ~ ~ t 
(3) lI<PT~~~t (4) lI<PT~~~t 

43. Planning is a function of : 

( I) Managing (2) Organising (3) Leading 

R~I"I'1 ~ q;f'f t : 
( I) 1I<PT'1 'f>T (2) WTo.! 'f>T (3) ~'f>T 

44. Which is the last function of management? 

(1) Planning (2) Controlling (3) Leading 

lI<PT 'f>T a1Rm q;f'f 'Iit-r-m t ? 
(2) R~31UI 

45. Which is a single-use plan? 

(1) Rules (2) Policies 

~-~ ~ 'Iit-r-m t ? 
(I) f.r:m (2) ~ 

(3) ~ 

(3) Budget 

(3) ~ 

13 

(4) Con tor lling 

(4) R~ 31 "I 'f>T 

(4) Organising 

(4) WTo.! 

(4) Goals 

(4) ('f&<! 

P.T.O. 



UP/20l/l(;) 

46. Unity of direction means: 

(1) Receiving order from one superior only 

(2) One head, one plan 

(3) Chain of superiors 

(4) Centralisation 

Ri{'IH qft ~ 'liT "1m'l'l t : 
( I) ~ 1l.'Ii "Cffur B ~ "lI1'<I <rnT (2) 1l.'Ii 'IWi, 1l.'Ii <it;;r;rr 
(3) 'Ift!iT qft ~ (4) ih'5lj'l'h<" I 

47. An act of coming to a conclusion means: 

(1) Planning (2) Policy (3) Strategy 

~ "t[{ ~ it ~ 'liT "1m'l'l m t : 
(I) R~I"H (2) -;fIfu (3) ,"I;fIR! 

48. 'Structure of relationship's is related to : 

(I) controlling (2) Organisation 

(3) Communication (4) Motivation 

49. 'Division of work' is related to : 

(I) Planning (2) Organisation (3) Directing 

'~-fo!'lT"R' <1k1F"l<! t : 
(I) R~I"I1 B (2) -.Mo1 B (3) R«~H B 

50. 'Principle of Delegation' is related to : 

(1) Organisation 

(3) Motivation 

14 

(2) Planning 

(4) Controlling 

(4) Decision 

(4) Selection 

(4) "I<R B 
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'*"U~I"1'1 <!>T f-84ihi' (1k1f.-'T<f t : 
(1) W1O'I i\ (2) f-1~I"1'1 i\ 

51. Who is responsible for performing planning function? 

(1) Shareholder (2) Manager 

(3) Worker (4) Outsider 

f.i4'l"1'1 opp:j it f-1 bQr<;'I ~ 'lit.! <l~'<;I~1 mcrr t ? 
(1) am>:nf\ (2) ~ (3) ~ (4) ~ 01lfu; 

52. Who has coined the term POSDCORB for managerial functions? 

(1) Luther Gulick (2) R.C. Davis 

(3) Ernest Dale (4) George R. Terry 

fiRR >l'i'l'W-T q;rjf ~ POSDCORB '1G ~ 1il><rr t ? 
(1) ~"11: ~ (2) am.m. ~ (3) affi:;>; ~ (4)""1l"l am. til 

53. Which is the oldest form of organisation structure? 

(1) Line organisation 

(3) Matrix organisation 

(2) Functional organisation 

(4) Committee organisation 

W1O'I >j,,, 'II <!>T ~ I ifl 'I (I q ~ 'lit.! -"ffi t ? 

(1) t&! W1O'I (2) f,"~I('I1q; W1O'I(3) 4f~'R1 W1O'I (4)"Bfi:lftl W1O'I 

54. Functional organisation was propounded by : 

(1) Henri Fayol (2) Peter F. Drucker 

(3) F.W. Taylor (4) Theo Haiman 

f,"~I,qq; W1O'I ~RlQrf~(I 1il><rr'T'IT : 
(1) m~&rn 
(3) ,<,". ~ ten: &rn 

15 P.T.O. 
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55. Who has propounded theory 'Z' ? 

(I) A. H. Maslow (2) William G. Ouchi 

(3) Mc Gregor (4) Frederick Herzberg 

~ '~' qi) foI;if.t ~Rlqlf~d f'li<rr t ? 
(I) V:.'T'l . ..mtr (2) fClf<1~'"I oil. aihit 
(3) *'" iriR (4) ihSR'h ~ 

56. In India, who has authority to amend Companies Act? 

(I) Company Law Board 

(2) Parliament 

(3) State Assembly 

(4) Ministry of Law & Company Affairs 

'lffiI it. 'h"1;fj fci'lR ii mrr>R "'h"f.t 'liT a:IT>m\ f<Rt t ? 
(I) 'h"1;jj"Z'lf <ilt (2) ~ 
(3) "U"'I qi\ fci'lR U'IT (4) M'I q 'h"1'11 ~ 'liT 1j5l1('l~ 

57. Which of the following is not related to a company? 

(I) Common seal 

(3) Citizenship 

(2) Perpetual succession 

(4) Artificial person 

f.P'1 f<1 f@d ii u "'li"R -W 'h "1;fj U *if''Id "'I"tf t ? 
(I) {llcfS~1 (2) W'8<l"3"Wf>m\ 

(3) '11'IR'hdl (4) ~ ~ 

58. Which of the following is not related to a private company? 

(1) Restriction on transfer of shares 

(2) Issue of prospectus 

(3) Limitation of membership 

(4) Annual general meeting 

16 



llP/201/1Ii) 

H'"1f<.1f'lld ir it qij-,-BT f.r;;ft q;Pflt it <:l':'lf.-mr -:mt ? 
(1) ar.m if; ,<:did,OI "R "l!fuijq (2) ~fq''I{01 'liT SHrt.,jA='l 

(3) <:1<;<:'ldl 'lit Ulm (4) qlfil'li <:1IAI"'l "<:1'11 

59. Which of the following is not a part of managerial direction? 

60. 

(1) Leadership (2) Communication 

(3) Motivation (4) Training 

H'"1f<.1f'lld ir it qij-,-BT "If'i~ H<f~H 'liT :Wr -:m t ? 
(1) ~ (2) <:1"~401 (3) 31f.murr (4) llfu'<l"1 

An agreement is a combination of : 

(1). Offer + Acceptance 

(3) Offer + Consideration 
. , ... 

~ '<'" <:1~1"iH Q : 

( 1 ) >I""<:dJCl + >:<41 iji RI 'liT 

(3) >I""<:dJCl + ~ Rl4i <.1 'liT 

(2) Offer + Obligation 

(4) Offer + Two parties 

(2) >I""<:dJCl + <;1f~CCI 'liT 

(4) >I""<:dJCl + <iT '!~ 'liT 

61. 'Something in Return' is related to : 

(1) Offer (2) Acceptance 

(3) Free consent (4) Consideration 

'~ ir~' W'lf4.fO t : 
( 1 ) >I""<:dJCl it (2) ~>:<4l\.,n iji'"""RI it 

62. A contract with a minor is : 

(1) Voidable (2) Void (3) Valid (4) Illegal 

'<'" 'l1'llf<.1'1 if; BTl![ 1%"'11 7J'1T ~"lifq<;1 mm t : 
_(1) ar$W:r (2) ar!l\ ('if'l) (3) 11T"I (4) ~q 
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63. Coercion comes under: 

(I) Consideration 

(3) Free consent 

<l«ll ~ OJ 3!T<lT t : 
(II QR1'!>0 ~ ~ 

(3) ~ 1i1~4Fa ~ ~ 

(2) Offer 

(41 Undue influence 

64. Agreements in restraint of trade is : 

( I) Void (2) Voidable (3) Valid (4) 

O<1qli1l~ iT ~'hlq<! ~ <m't ~ : 
(1 ) arof ;irtt i (2) ar$W! ;irtt i 
(3) 11Pl ;irtt i (4) ~{'hI'i41 ;irtt i 

65. The Sale of Goods Act came into existence in : 

(1 ) 1872 (2) 1930 (3) 1932 (4 ) 

~ ~ ;;jf''ff.r:rl1 31Ff<liCl iT aw:rr : 
( I) 1872 iT (2) 1930 iT (3) 1932 iT (4) 

66. 'Conditions' is related to : 

(I) Contract Act (2) Sale of Goods Act 

(3) Companies Act (4) Partnership Act 

''II#'' 1i1k1F-1T<l t : 

lllegal 

1956 

1956 iT 

(1 ) Q(jFq~1 ;;jf''ff.r:rl1 it (2) ~ ~ ;;jf''ff.r:rl1 it 
(3) 'hAl'll ;;jf''ff.r:rl1 it (4) 1i11~ ~Rl ;;jf''ff.r:rl1 it 

67. 'The principle of caveat emptor' protects the: 

(1 ) Buyer (2) Seller (3) Creditor (4) Debtor 

18 
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'~ mef'IR 'li1 f(1O!iHI' ,~ <Hffi t : 
( 1 ) ~ <liT (2) fctinaT <liT (3 ) ":1'1 <; I{ <liT (4) ~ <liT 

68. 'Holder in due course' is related to : 

(1) Contract Act (2) Partnership Act 

(3) Negotiable Instruments Act (4) Consumer Protection Act 

'<r'llfclf'l 'I"R\' ~'4r:-'1j(f t : 
(1) Q4f<'l<;1 31f>lf.-rm -B 
(3) q,a;IRl ~ ~ -B 

(2) ~1~<;1\1 31f>lf.-rm -B 
(4) "3ll~ m&;JUJ 31f>lf.-rm -B 

69. What is the number of parties to,a promiSSOry note ?, 

QRI'il1 q ~ ii '1~ 'iii Bwn flmRI m-w t ? 

(1) 5 (2) 9 (3) 6 (4) 10 

70. The Reserve Bank of India Act was passed in : 

(1 ) 1930 (2) 1934 (3) 1949 (4) 1956 

~ ~ ~ 31f'lf.l~~ '1Ifur San : 
(1 ) 1930 ii (2) 1934 ii (3) 1949 ii (4) 1956 ii 

71. Which function is not performed by the Reserve Bank of India? 

(1) Credit control (2) Issue of currency 

(3) Banker's Bank (4) Receiving public deposits 

(1) <msi f.I~~ol 

(3) ~ 'li1 ~ 

19 

(2) q~"l"'1 'li1 f.I'f~1 
(4) ~ I 'hi f.I 'Ii "IllT = <R'!T 
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72. Which of the following is not the quantitative technique of credit 
control? 

(I) Bank Rate (2) Open Market Operations 

(3) Moral suasion and Publicity (4) Cash Reserve Ratio 

H"1f<'lf€ld iI' ~ <li'R-w "WlSI f·l';j~ol qiJ QR4I UII«l'li fcrf"l "iWt ? 
(1) ~ G>: (2) <W! ~ qiJ ~ 
(3) • ~ Of >R!R (4) ~ amf'W! 31:!'IT<l 

73. In which year 6 major commercial banks were nationalised in India? 

(1) 1980 (2) 1982 (3) 1986 (4) 1991 

'Iffil iI' ~ 'l'I iI' 6 '1i; "'1IQIR'Ii ~ 'liT \I?l~'Ii{al f<li'lT 7J'lT ? 

(1) 1980 iI' (2) 1982 iI' (3) 1986 iI' (4) 1991 i'i 

74. The Banking Regulation Act was passed in : 

~ H~4'1 31f~ '!Tfu! 8;3lT : 

( 1) 1947 (2) 1949 (3) 1951 

75. NABARD was set up in : 

"'IT'ITi qiJ ~ I Q '11 qiJ ~ : 

( 1) 1969 (2) 1971 (3) 1982 

76. Accounting principles are generally based on : 

(1) practicability (2) SUbjectivity 

(3) convenience in recording (4) All the above 

<iI€li'li'1 f+lOfiid <1141"ld: 3lT"lTRd mit t : 
(1) "'1'lt<IR'lidl tf{ 

(3) "<iI<!R qiJ fI'I'!dl tf{ 

20 

(2) "'1f'RIHBdl tf{ 

(4) ~ Qihh "B>TI tf{ 

(4) 1956 

(4) 1986 
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77. The practice of appending notes regarding contingent liabilities in 

accounting statements is in pursuance of: 

(1) convention to consistency 

(2) money measurement concept 

(3) convention of conservatism 

(4) convention of disclosure 

M@iiH f'l'Hojf if <i'flO1! ~If~<<ir il;- (114"1 if f~cqoil ~ ~ q;) >I'lT 311'IIRd 

t: 
(1) H{,{Rdl q;) 4RYI<,] 'R 

(3) ",f,.'Uf<;dl q;) 411:41;:] 'R 

(2) ~ 'IT'R 31C!'lR1lTT 'R 

(4) ~'Ii;:]'Ii(OI q;) 411:41;:] 'R 

78. The convention of conservatism, when applied to balance sheet re­

sults in : 

(1) understatement of assets 

(3) overstatement of capital 

(2) understatement of liabilities 

(4) understatement of capital 

",r~<iIRdI q;) 4R41;:] 'iii ~ if <'lPL ~ "ITdl t <it ~ 4ROll4 -.mrr t : 
(1) (1'"4f~4r q;j "Wi<"Wj (2) ~IF4"'1 q;j 31<i'i~'l 

(3) -.pIT q;j 31fu'i~'l (4) -.pIT q;j "lq'i~'l 

79. According to money measurement- concept, which one of the follow­

ing will the recorded in the books of account of business? 

(1)' health of the Managing Director 

(2) quality of companies products 

(3) value of plant and machinery 

(4) team spirit of organisation 
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':.ls;PWR'!it 31cl"lRUl 'it; ~ R"1if<hil it -B f<h+l'hl "I'I+l14 '!it ~ it"ffig.j 
1%<iT~ ? 
(I) ~ ~i1I(1'h 'it; 811M'"' (2) 'h"l;jj 'it; a«li<~r '!it 2"14<11'"' 

(3) ~ ~ q~n;H'l 'it; 'i"'l '"' (4) ~ 'it; it'! 'Wf'!T '"' 

80. In the case of a debt becoming bad, the amount should be credited 
to: 

(1) Debtor's Account 

(3) Sales Account 

(2) Bad Debts Account 

(4) Cash Account 

~ "f'.iI 'i" "Iffi t, ~ ~ it 'R urn <it iW;?: 1%<iT 'ifT'!T "'C\lW't : 
(I) ~ <mit it (2) 'i"iI ~ <mit it 
(3) ~ <mit it (4) ~ <mit it 

81. The return of goods by a customer should be debited to : 

(I) Customer's Account (2) Sales Returns Account 

(3) Goods Account (4) l'1.lrchase Account 

~ GRTl1f(1 '!it ~ <it ~ 1%<iT omrr t : 
(1) ~ 'it; <mit it (2) ~ ~ <mit it 
(3) l1f(1 <mit it (4) l1i"!I <mit it 

82. Cash Discount allowed to a debtor'hould be credited to : 

(1) Discount Account 

(3) Sales Account 

(2) Customer's Account 

(4) Sales Returns Account 

~ <it \4lq;iI 'I'Ii"G ~ iW;?: 1%<iT 'ifT'!T "'C\lW't : 
( 1 ) ~ 1SIIffi it (2) ~ 'it; 1SIIffi it 
(3) ~ 1SIIffi it (4) ~ ~ 1SIIffi it 

83. The amount of salary paid to Suresh should be debited to : 

(1) The account of Suresh 

(3) Cash Account 

22 

(2) Salaries Account 

(4) Trading Account 
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~ qij f<;it 'lit ~ qij >FRlfu qij ~ m-r "IRT ~ : 

(1) ~iI;~it (2) ~~it 

(3) ~ ~ it (4) 01ll'lR ~ it 

84. The determination of expenses for an accounting period is based on 
the principle of : 

(1) Objectivity 

(3) Matching 

(2) Materiality 

(4) Periodicity' 

~ z9&i'li1 a:rqj'q it O'!'! q>f R"1RuJ f<l;u f\1:&hl 'R 31T"ITfu! ~ t ? 

(1) q'1HBdl'R (2) .jlf"'lidl 'R 

(3) fl:R1R'R (4) Wl~lqrq 'R 

85. In the case of gold, revenue is recognised in the accounting period in 
which gold: 

(1) is mined 

(3) is delivered 

(2) is sold 

(4) is exported 

«I1J! q,'\ ~ it, ~ #mn a:rqj'q it ~ aQlf,;fd '!l;31T "" 'lRT "IKIT t "I'! «I1J! 
q>f: 

( 1 ) <SFR qi\ fc.1<n "IKIT t 
(3) fl:¥'n qi\ ~ "IKIT t 

86. Revenue is said to be earned: 

(1) when sales are made 

(2) ~ qi\ fc.1<n "IKIT t 
(4) f.r;ffir qi\ ~ "IKIT t 

(2) when goods are manufactured 

(3) when goods are delivered 

(4) when cash is realised 
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= 'li't ~ "!l31T "IlRT "ITd1 t : 
(1) '"" ~ Of;\ fWrr "ITd1 t 
(2) '"" llK'f 'liT f.l1:lfuT Of;\ fWrr "ITd1 t 
(3) '"" llK'f qi\ {j3>~'il Of;\ m "ITd1 t 
(4) '"" ~ qi\ • til oml\ t 

87. An amount of Rs. 200 received from P credited to Q would affect: 

(I) Ps Account 

(2) Q's Account 

(3) Both P's Account and Q's Accounts 

(4) Cash account 

P it m«r 200 ~o 'If<:: Q i:o llIfct if ~ Of;\ m "iT'! <it >r'llf<'ffl m : 
(1) P 'liT = 
(3) P <f'lT Q <iRI i:o llIfct 

(2) Q 'liT = 
(4) ~= 

88. In the case of Independent Branch, the. Head Office Account main­
tained by the Branch is of the nature of a : 

(1) Real Account (2) Personal Account 

(3) Nominal Account (4) None of the above 

~ 'Iml!T qi\ Glffl if, 'Iml!T 1mT 'Rf'lT lJ"IT >r'IR "'1'1i<'1'1 = mm t : 
(I) 'UWfct'" = (2) ''If"d>'ld = 
(3) '11'141> = (4) aq<hh if ~-,m 

89. Under Foreign Branch Revenue Items should be converted at : 

(1) Opening Rate of Exchange (2) Closing Rate of Exchange 

(3) Average Rate of Exchange (4) Highest Rate of Exchange 
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~ 'IlTl5IT qft G'IIT ii, 3'!T'l'T<! -.:R1 q;'t QR<lrctd foI;<n '3fAI ~ : 

(1) fqf.lq~ 'if;-~ <;1: "'R (2' fqf.lq~ 'if;- 3lRm <;1:"'R 

(3) fqf"q~ 'if;- a:Iffio <;1: "'R (4' fOlf.lq~ 'if;- 3ciidq <;1: "'R 

90. 'Goods sent by Head Office to the Branch, not received by the brand 
are credited by the Head Office to : 

(1) Branch Account 

(3) Trading Account 

(2) Goods - in - transit Account 

(4) Profit and Loss Account 

'>f'WI ijil~f<!1~ ;mJ 'IlTl5IT q;'t ~ 'l'lT"I!T<!1 fon"'lj 'IlTl5IT;mJ = -;ffi foI;<n 'l'lT' '! 
>f'WI ijil~f<!1~ ;mJ ~ foI;<n "Il<!T t : 
(1) 'IlTl5IT ~ iI (2) 00 iI "I!T<!1 ~ iI 
(3) 01.1l'lR ~ iI (4) <!1T'l-W'! ~ iI 

91. Branch Account under Debtors' System is : 

(1) Real Account (2) Personal Account 

(3) Nominal Account 

~ -q;;;fu iI 'IlTl5IT <SmfT t: 
(1) <lI«lfOliji <SmfT 

(3) ;lIqql~ <SmfT 

(4) None of the above 

(2) O11fm'ld <SmfT 

(4) aQ{I'<1i iI ~ -;ffi 

92. In case of hire purchase, asset account is debited with: 

(1) Hire Purchase Price (2) Cash Price 

(3) Cost Price to the sener (4) Cash Price plus Interest 

fq;(I~1 9Ii'l -q;;;fu ii, \1U1f-<l <SmfT ~ foI;<n "Il<!T t : 
(1) fq;(I~1 9Ii'l 'E"l U (2) ~ 'E"l U 
(3) ~ q;'t <!1T'Kf 'E"l U (4) ~ 'E"l 'Ef'[ + 0lll0[ U 
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93. In case of hire purchase, the buyer charges depreciation on : 

(1) Hire Purchase Price of Asset (2) Cash Price of Asset 

(3) Cash Price plus Interest (4) Highest of the above 

f",(I~1 W1! ~ il, '(l'"Gf'1 1Sffi1T ~ flI;<n ;;nor i : 
(1) '(l'"Gf'1 i\; f",{141 W1! 'FI'l 'R (2) '(l'"Gf'1 i\; ~ ~ 'R 

(3) ~ ~ "T'! "'IRf 'R (4) aq{ju; il;;it a~,"dA m 'R 

94. In case of Instalment System, total interest receivable by seller is 
credited to : 

(1) Interest Suspense Acc()\lt\1 \2) lnterest Account 

(3) Sales Account (4) Asset Account 

~ ~ il, ~ GRT m1Zf <frn:r ¥I "'IRf ~ flI;<n ;;nor i : 
( 1 ) "'IRf"d<R! 1Sffi1T il (2) "'IRf 1Sffi1T il 
(3) f<a;<r 1Sffi1T il (4) '(l'"Gf'1 1Sffi1T il 

95. The cost of goods sold on hire-purchase is transferred to : 

(1) Sales Account 

(2) Purchases Account 

(3) Hire Purchase Trading Account 

(4) Balance Shect 

f",{141 W1! il fqfilid ~ q;j <'fill<[ f'l1'dRd q;j "Ifill i : 
( 1 ) f<a;<r 1Sffi1T il (2) W1! 1Sffi1T il 
(3) f"'{I~1 - W1! - 01lJ1lR 1Sffi1T il (4) ~ il 

96. Sales are equal to 

(1) Cost of goods sold + Profit 

(2) Cost of goods sold - Gross Profit 

(3) Gross Profit - Cost of goods sold 

(4) Cost of goods sold + Purchases 
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f'ffii<PRf'R mm i : 
(1) fc!flna 11R'I qft "('fJT[Cf + <'IT'! if; 

(2) fc!flna 11R'I qft "('fJT[Cf - ~ <'IT'! i! 
(3) ~ <'IT'! - f~filict <'IT'! qft "('fJT[Cf if; 

(4) f'l f iii ct 11R'I qft "('fJT[Cf + -;n>:I if; 

97. Assets appearing in books but having no value are known as : 

(1) Wasting assets (2) Intangible assets 

(3)' Current assets (4) Fictitious assets 

{lAlf~~I;:;jj WID ~«I<i>1' i! ~ 1f'ft ~ ~ f"l'l'hl 'E"'f '1.;T, "IT'it omit ~ : 
(1) 'I1¥lqi'l ,"Alf~~1 (2) ~ {lAlf~~1 
(3) <rR'l {l AI f~ ~ I (4) '1144151 qft T{l~Alnffi""~ ~nll 

98. Income earned and collected results in : 

(1) Increase in asset and increase in capital 

(2) Increase in asset and decrease in capital 

(3) Increase in asset and decrease in liability 

(4) Decrease in asset and increase in liability 

awl ;:;jj ~ qft ;;n<! 3ih: ~ <'il ;;n<!, 'liT qR 0 114 mm i : 
(1) {lAlf"l i! ~ 3ih: -cf;;fi i! ~ (2) {lAlf~ i! ~ 3ih: -cf;;fi i! "filft 
(3) {lAlf"l i! ~ 3ih: <;If~(q i! "filft (4) {lAlf~ i! "filft 3ih: <;If~(q i! ~ 

99. Which of the following transactions results in increase of assets and 
increase in owner's equity? 

(1) Shares issued for cash 

(2) A dividend declared 

(3) Purchase of own debentures for cash 

(4) Bonus shares issued 
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R"1if'h<1 "'1q~I;(j' if it f<liB~ 1ffil Bll1fil~1' if <f.& o'lT ~If'l<"'l ~ if <f.& m 
~? 
(1) ~ 'R ;;rrU am (2) ~ <'IT"1ffi 
(3) f.r;;fr 'li0 I q >1 q;j ~ S!>'! (4);;rrU 1¥t 'lit oWm ir<R 

IOO.Life insurance premiums received by an insurance company should 
be classified as : 

(1) Earned asset (2) Liability 

(3) Prepaid expense (4) Unearned revenue 

<ftm 'hIl1;oft 1ffil m'<l oileR <ftm >i1f'l~A q'ilq>(1 fo!>'lT "Iffi[ ~ : 

(1) dQIf,;f(1 Bll1fil (2) d41f,;f(1 ~lf~<"'I 

(3) ~ C1:p:[ (4) :3F11f,;f(1 3Wl 

10l. Stock should include: 

(1) Goods held as security 

(2) Goods held by business as consignee 

(3) Goods with customers for approval on sale or return basis 

(4) Goods sold but not yet delivered 

-.ifq; if B f"'1 f<'1 (1 fo!>'lT "IRT ~ : 

( 1) >Wr'WJ "" ~ if ~ '1'lJl'!R'f 

(2) "'1qBI~ 1ffil Q{f~ffi "" ~ if ~ Tf'lT lJT('f 

(3) lJT('f -;;it QI~lihl' "" 'ffi! 6l'"l~1~'1 'R ~ 'IT C!J1l<fi "" 311m>: 'R ~ 
(4) lJT('f -;;it itT.! f<;'!r Tf'lT ~ 'd¥,n 1@ ~ 

l02.What is the amount of closing stock when: 

opening stoke ~ Rs. 4,500 

cost of goods sold ~ Rs. 54,500 

purchases = Rs. 60,000 

(1) Nil 

(3) Rs.9,000 
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31Rm (\;f<l41 qi\ m "P11 irft, "ffl; Wi m : 
~ (~Ri41 ~ 4,500«. 

f<mI;a l11B qi\ Bl'T<! ~ 54,500 «. 

'"" ~ 60,000 «. 

(1) ~"'f@ 
(3) 9,000 «. 

(2) 19,000 «. 

(4) 10,000 «. 

l03.Which of the following accounts mostly begins with an opening 
balance? 

(1) Receipt and Payment Account 

(2) Income and Expenditure Acount 

(3) Project and Loss account 

(4) All the above 

f,p'iifihi! <m<ii' i\ <'l ~ ~ i\q <'l 31R1"1 irnr * ? 
(1) >nfi:<r ~ :r'fiIR '&Till (2) = ~ C4'! '&Till 

(3) Bl'1-W'! '&Till (4) a q ('Fa, wft 

104.When capital at the end is Rs. 50,000, in the beginningRs. 47,500 
and fresh capital introduced Rs, 7,500; then the amount of profit 
or loss is : 

(1) Rs. 10,000 (profit) (2) Rs. 5,000 (profit) 

(3) Rs.5,000 (loss) (4) None of thess 

"ffl; WIT m : 31Rm ~ 50,000 «. ~ ~ 47,500 «. <l2l1 ~ 'l'ft 1"ft 
~ 7,500 «. m <it Bl'1 '31"f'1] W'! qi\ m irft : 
(1) 10,000 (Bl'1) (2) 5,000 (Bl'1) 

(3) 5,000 (W'!) (4) aq\I'di i\ ~ "'f@ 
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105. Single entry system is defective because: 

(1) Trial Balance cannot be prepared 

(2) Trading and Profit & Loss Account cannot be prepared 

(3) Balance sheet Can not be prepared 

(4) Anyone of above cannot be prepared 

~ #r>m ~ <il4'Luf m t ~: 
(1) <IWR"'f@ ~ W:rr orr <1'Ii"ffi 

(2) 01lJ11R <l'-TT <'!T'1 m 1iIKIT "'f@ ~ W:rr orr <1'Ii"ffi 

(3) ~"'f@ ~ W:rr orr <1'Ii"ffi 

(4) il q "hli ii ~ '1ft "'f@ ~ W:rr orr <1'Ii"ffi 

106.Under annuity method, the amount of depreciation is : 

(1) fixed for all years 

(2) increasing every year 

(3) decreasing every year 

(4) fluctuating from year to year 

qlfil1t.l ~ ii ;m:r ~ <Tfu m t : 
(1) u'lft 'fIif ii W!1: (2) ~ qq ii ~ ~ 
(3) ~ qq ii ~ ~ (4) qq"5!ll! qq qRqRfd 

107.In sinking fund method of depreciation, which of the folloiwng 
accounts is debited for providing depreciation? 

(1) AssetAjc 

(2) Profit and Loss Aj c 

(3) Profit and Loss Appropriation Aj c 

(4) Sinking Fund Ajc 
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&m'lit fu1%1T ~ W'l ii f.j"1if'hd W ii u 1'R\ &m "" fW'r ~ WIT ''IT<IT 
i? 
(1) fI'·qf-<l <SffiIT (2) 1:'IT'1-mR <SffiIT 

108. Accumulated Depreciation AI c is shown in the final accounts: 

(1) on the liability side of the Balance Sheet 

(2) on the debit side of profit and loss AI c 

(3) by deducting from the related asset account in the Balance 
sheet 

(4) on the credit side of the Profit and Loss Alc 

am <Sffit ii l\'hf~d &m <SffiIT ~ ''IT<IT i : 
(1) ~ "" ~If~(q 11l\-T ii 
(2) 1:'IT'1-mR <Sffit "" ~ 11l\-T ii 
(3) ~ ii +lkjf"4G fI':qf-<l <Sffit ii U >m 'Ii1: 

(4) 1:'IT'1-mR <Sffit "" ~ 11l\-T ii 

109. Leasehold property is generally depreciated by : 

(1) Annuity method 

(2) Fixed Instalment method 

(3) Reducing Balance method 

(4) Insurance Policy method 

~ 'l': "ffi 'T'ft qi\+l"1f-<l 'lit +l1~I"ld~1 ~ WIT ''IT<IT i : 
(1) q I M 'hl -q-;;;fu &m (2) ~ f'Ii'ffi -q-;;;fu &m 

(3 ) ~ -m -q-;;;fu &m (4) oftllJ q 1f<'l:8l -q-;;;fu &m 
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110. Under the Straight Line method of charging depreciation depre­
ciation is calculated: 

(1) original cost 
(2) original cost plus scrap value 

(3) original cost minus scrap value 
(4) Written Down value 

W'! ""Il"f m 'fit w'-il 00 fur.. il; a:Rf1fu, W'! 'fit 1fUAT 'fit "ffift i : 
( 1 ) 'Fl1;!ll1(l 'R 

(2) 'Fl1;!ll1(l 'R (+) ~ 'i\"'! 'R 

(3) 'Fl1;!ll1(l?[UT H ~ 'i\"'! 'R 

(4) 31qf~f<lld 'i\"'! 'R 

111. Which of the following is of capital nature? 
(1) Purchase of a truck by a company 

(2) Replacement of old tyres and tubes of a truck 

(3) Cost of repairs of a truck 

(4) All the above 

f-1'"'iif.,d if it ~ {-m'ld ~ 'liT i ? 

( 1 ) 'Ii <=q;jj IDn "{'Ii 'liT "'" 

(2) "{'Ii il; ~ ern: q ~ 'liT QRW'II q'1 

(3) "{'Ii 'fit ~ (U1 d 1;!ll1(l 

(4) aq{lij; <:!>TI 

112. Cost of air conditioning the office of the managing director is : 

(1) Capital expenditure 

(2) Revenue expenditure 

(3) Deferred revenue expenditure 

(4) None of the above 
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>W'I R~~I'Ii ~ 'li1~f(1~ ~ q:~{'lir:gl~If.j'1 'lit <.'IJTTi! m : 
( 1 ) i '" 1'1 d "'f'! (2 ) 3Wl'Rf "'f'! 

(3) 311'Mrld 3Wl'Rf "'f'! (4) aQUUi if ~"'llft' 

113. Which of the following receipts is of capital nature? 

(1) Amount realized from sale of old furniture 

(2) Amount received from debtor whose account was previously 
written off as bad debt 

(3) Amount of interest received from bank on fIxed deposit 

(4) Amount realised from debtors 

R!Ojif<hd Qlfi:d<il if it 'liI'I i~'ld ~ "'liT t ? 
(1) ~ Yi;jfiH 'lit ~ it ~ ~ urn 
(2) ~~ it >IT'<! 'l"'I"nfu f"lMI = 'l(-f if ~ ~ ~"'IiT{UI"WIT'<!"'Ii"{ ft;7;rr 

'WI 'IT 

(3) ~ 'JI11T 'R ~ it >IT'<! "'lFif 'lit urn 
(4) ~'1~1{1 it ~ 1"f'ft urn 

114. Which of the following is not capital expenditure? 

(1) Cost of issuing shares 

(2) Wages paid for construction of bulding 

(3) Repair charges of second hand machinery newly purchased 

(4) Purchase of new spark plug at a cost of Rs. 50 for two year 
old car 

Pi !OJ i f<h iI if it 'liI'I m 't ~ 'I d "'f'! 'ftf t ? 
(1) 3i'IT f·pfA'1 'lit <.'IJTTi! 

(2) 'WI f'mfur ~ ft;7;rr 'WI A"It(l 

(3) ~ if "iIi'l 'lit1"f'ft ~ ~ "'liT A{"1d "'f'! 

(4) ~ crof ~ "'liT{ ~ 50 ". <.'IJTTi! "'liT 'f'lT ~ 'WI 
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115. Expenses incurred on 'research and development' is an example 
of: 

(1) Capital expenditure 

(2) Revenue expenditure 

(3) Deferred revenue 'expenditure 

(4) None of the above 

'>lit>] ~ fCl'hRl' 1R f'li"IT 'l'!T "'f'! 3O:;IlH oi t : 
( 1 ) i.oft' I <I "'f'! 'liT (2) awrrrq "'f'! 'liT 

(3) 3l1f'lrl<l awrrrq "'f'! 'liT (4) 3q\lm if ~ ~ 

116. X, Y and Z are partners in a firm. If B is to be admitted as a new 
artner, then: 

(1) old partnership has to be dissolved 

(2) old firm has to be dissolved 

(3) both, old partnership and firm have to be dissolved 

(4) neither firm nor partnership need to be dissolved 

X, Y 0"11 Z ~ -q;lf if +l1~O:;R t I 'lfu: B <f.'r 'fit +l1~O:;R ~ <"'! if m fi;1.rr "fT'l 
ill: 
(1) ~ +l1~O:;l\l $] 'livft m 
(2) ~ -q;lf $] 'livft m 
(3) ~,~ +l1~O:;l\l il"ll -q;lf <f.'r $] 'livft m 
(4) '1 ill -q;lf ~ '1 ~ +l1~O:;Rl <f.'r $] 'livft m 

1 2 1 'II b 117. X, Y and Z are partners in the ratio of 2': '5 : 10 what WI e the 

new ratio ofthe remaining partners if X retires? 

(1) 2: 1 (2) 4: 1 

(3) 5: 1 (4) 3: 1 

34 



llP /201/1(i) 

x, Y {f'IT Z ~: ~ : l~ ~ i! "II~~I{ t I X if; €I,,!f.j\!u ~ 'R 'l'11 ~ 
'I'lT m? 
(1) 2: 1 (2) 4: 1 

(3) 5: 1 (4) 3: 1 

118. Sacrificing ratio is used at the time of: 

(I) admission of a partner (2) retirement of a partner 

(3) death of a partner (4) dissolution offirm 

«IT'! ~ 'liT m f'Ii"'lT ;;mn t : 
(I) (11~~1{ if; ~ if;-wr:! 

(3) (11~~1{ qi\ If<':l 'R 

(2) (11~~I( if; €I"IR\1u if; -wr:! 

(4) 'PI if; ~ ~ 'R 

119. New profit sharing ratio is calcualted at the time of: 

(1) admission of a partner (2) retirement of a partner 

(3) death of a partner (4) All the above 

'lit <'IT'! fcr~ ~ qi\ TJURT qi\ "Il<i\ t: 
(1) (11~~I( if; ~ if; -wr:! (2) (11~<1( if; €I"IR\1u if;-wr:! 

(3) (11~~I( qi\ If<':l '1W<l (4) aq{)fh B,j) GW i! 

120. At the time of admission of a new partners, Goodwill raised should 
be written off in : 

(I) New profit sharing ratio 

(2) Old profit sharing ratio 

(3) Sacrificing ratio 

(4) Gaining ratio 
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f'I;Bl 'lit '" 1 ~ ~R t- wm t- <1'f'I f.1 'Ii 1 ctl "1f'ft ~ 'liT '" ~ 1 q '1 fi1;"'l] ;;rr;u ~: 
{I) 'lit ""'l ~ 3TTffi! # 
(2) :Jif.t ""'l fc!'lf'5R 3TTffi! # 
(3) <'!JlI 3TTffi! # 
(4) w.& 3TTffi! # 

121. On dissolution of firm, an amount realised from the unrecorded 
asset is credited to : 

(1) Revaluation Account 

(3) Cash Account 

(2) Realisation Account 

(4) Profit and Loss Account 

,"1~~Rl $I iR 'R "l<'lf@d w:qf~ U ~"'Iit "1f'ft uf.Ir "'lit ~ fi1;"'l] "fTOT % : 
(1) ~'1'i<"li'li'1 = # (2) • = # 
(3) ~ = # (4) ""'l-W'! = # 

122. Loss arising from insolvency of a partner is to be born by other 
partners: 

(1) equal 

(2) in the ratio of their capital 

(3) in the profiit sharing ratio 

(4) in the ratio decided by the Court 

f'I;Bl ,"I~~R t- fG'IIf<'l'l1 iR u ~ W'! ;it 3'R! ,"1~~I<}"iffiT 'Wf fi1;"'l] "fTOT 

%: 
(1) "WfR 3TTffi! # 
(2) d'I'Ii\ ~ 3TTffi! # 
(3) ""'l-W'! "l"Tffi! # 
(4) "l1'l10'1"iffiT f.jfili1d fc!;it 'lit 3TTffi! # 
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123. The minimum share application money is : 
(11 Rs. 2 share 
(2) 5% of the nominal value of share 
(3) 10% of the nominal value of share 
(4) 20% of the nominal value of share 

"{"idA am llT.rn--q?[ uRI TIffi ~ : 
(1) 2 <>. 'lfuam 

(2) at.m il; affi!;o 'E"l 'I>T 5% 

(3) at.m il; affi!;o 'E"l 'I>T 1 0% 

(4) at.m il; affi!;o 'E"l 'I>T 20% 

124. Right shares means the shares which are : 
(1) issued to directors of a company 
(2) fIrst offered to the existing shareholders 
(3) fIrst offerd to debentureholders 
(4) issued by a newly formed company 

:m"T'IiR at.m ~ 3lW! <R at.m ~ m ~ ~ : 
(1) "filll'ft il; lii'<lI<.1'fi1 'li't f"i'rf'ld f'Ii<!T "lTd! ~ 
(2) ~ CldAH am'llft1jf 'li't ~«Iif'ld f'Ii<!T "lTd! ~ 
(3) ~?Ii" I q?l ~ 'li't ~ «Iif'l d f'Ii<!T "lTd! ~ 
(4) "'I'll ~ '1'fi "filll'ft &m "Iffi f'Ii<!T "lTd! ~ 

llP /201/1{il 

125. Any balance in the Share Forfeiture Account after all the for­
feited shares are reissued should be : 
(1) added to the pald up Capital 
(2) transferred to Goodwill Account 

(3) transferred to Capital Reserve Account 

(4) Shown in the Balance Sheet under the heading Share For­

feiture Account 
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~ 1%it ']it .pTI e:iW'ii; 3'lf.f'f4'l 'ii; "t[~ aro "Iiiift'h,UI <Sffi\ 'ii; iT<; qir : 

(1) ¥<IT ~ <Sffi\ if ~ ~ 
(2) "&llfu <Sffi\ if f1!i h1 R a fo!>'lT "lRT ~ 

(3) ~ ~ <Sffi\ if <=>l1'dRa fo!>'lT "lRT ~ 

(4) ~ if 'aro ~ <SITdT' -wfq; if GWlT "lRT ~ 

126. Capital Redemption Reserve Account is available for: 

(1) redemption of red earnable preference shares 

(2) redemption of redeemable debentures 

(3) reorganisation of share capital 

(4) issue of bonus shares 

~ "W1R ~ <Sffi\ 'l>l -nfu <lQ\1"'f m t : 
(1) "W"'I ~"l'lR e:iW 'ii; "W1R %q 
(2) "W"'I 5tiUIQ~1 'ii; "W1R %q 
(3) aro ~ 'ii; 3'l'fd'l %q 
(4) <if.m e:iW'ii; f.l'f4'l %q 

127. If preference shares are redeemed at premium, then such pre­
mium may be provided out of : 

(1) Share Premium Account 

(2) Proceeds of fresh issue of shares 

(3) Share Forfeiture Account 

(4) Capital Redemption Reserve Account 

'!fu: ~"l'lR e:iW 'liT"W1R ~lr~~4 "t[( it <it lilr~~4 'liT >flC["lR fo!>'lT "IT <=f'Iid1 t: 
(1) aro lilr~~4 <Sffi\ -n (2) -.,it e:iW -n = ~ -n 
(3) aro ~ <Sffi\ -n (4) ~"W1R ~ <Sffi\ -n 
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118. Which of the following is Dot a feature of management? 

(1) Human activity (2) A process 

(3) A movement for reforms (4) A Social process 

fol"lf<'1flSlii il-B ~-w "''''PI;n!~ ~ t ? 
( 1 ) Ii 11<11 <i fli;<rr (2) ll:'Ii"llfif;<:n 

(3) ~'IR %g 311'<i1i?11 (4) ll:'Ii ~Ililf"i'" ~flI;<i1 

119. Which of the following is Dot a feature of combination? 

(1) Association (2) Common purpose 

(3) Flexibility (4) Comprehensive process 

R"lf<'1flSlii il-B ~-W 1i~1"l1 "" <'!~ ~ t ? 
(1) W:r (2) ~Ilil""l ~ 

(3) Ml"lTJfill (4) 01l14'" ~foh<il 

120. Circular combination is synonym of : 

(1) Mixed combination (2) Allied combination 

(3) Parallel combination (4) Process combination 

~ 1i<ft"l1 ~ t : 
(1) fl1f~ MI"l1 "" 

(3) ~liI1HH 1i>fl"l1,," 

121. Holding company is a form of : 

(1) Trade Union 

(3) Trust 

Ii ~"" (j '" AI;jj ll:'Ii '5JR'Ol t : 

(2) ~ 1i<ft"l1 "" 

(4) "lIfif;<:n Ii ~1 "l1 "" 

(2) Federation 

(4) Consolidation 

(1) WI W:r "" (2) 'fi~ "" (3) >FIlm "" (4) W:r'R'<liT 
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131. Which ofthe following items is not an operating expenses? 

(1) office expenses 

(3) selling overheads 

(1) 'hl"lfct"l ozr<T 

(3) Flwl"3llft ozr<T 

(2) postage 

(4) interest 

(2) TI'Ii ozr<T 

(4) ~ 

132. When opening stock is Rs. 50,000 closing stock Rs. 60,000 and 
cost of goods sold Rs. 2,20,000, the stock turnover ratio is : 

(1) 2 times 

(3) 4 times 

(2) 3 times 

(4) 5 times 

'1ft:: ~ U;Rt"l1 50,000 <'. 3lRr<T ,~Rt"ll 60,000 <'. 3i'R ~ 1iTct qit 

<'fl'T<! 2,20,000 <'. tn, <IT ,~Rt"ll 3l1"!<f ~ mrrr : 
(1) ~ 'TfI (2) <lR 'TfI 
(3) 'ilR 'TfI (4) -qfq 'TfI 

133. Which of the following transactions change the current ratio? 

(1) Purchase of goods for cash 

(2) Plant acquired On account 
(3) Goods sold on credit 

(4) debentures converted into equity capital 

H'"'1 if'lid "HH if B filitl<h &m ~ ~ if ~<;ct I 'I 3l1itrrr ? 

(1) 1iTct "liT ~ """ (2) ~ "liT '0'111: """ 

(3) 1iTct qit '0'111: ~ (4) ?liUlq~l' qit 'tI1'R!1 ~ if qRcn!" 
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134. Given: Current Ratio 2 : 1 ; Net working capital Rs. 60,600. What 

is the amount of current liabilities? 

(1) Rs.30,300 

(3) Rs.90,900 

(2) Rs.60,600 

(4) Rs.l,21,200 

fu:<rr t : ~ ~ 2 : 1 ; 'iF< "'14~n('1 ~ 60,600 <'.1 ~ ;;Ir~(q qij urn 
'l'!T WIT ? 

(I) 30,300<'. 

(3) 90,900 <'. 

(2) 60,600 <'. 

(4) 1,21,200<'. 

135. Gross Profit Ratio is the ratio of: 

(I) Gross Profit to net total sales 

(2) Gross Profit to net credit sales 

(3) Gross Profit to net cash sales 

(4) Gross Profit to capital employed 

~ "MT'l ~ t : 
(1) ~"MT'l all<: 'iF< ~ fc!w! "6fiT ~ 

(2) ~"MT'l all<: 'iF< 0>lR fc!w! "6fiT ~ 

(3) ~"MT'l all<: 'iF< "'f6fi"<; fc!w! "6fiT ~ 

(4) ~"MT'l all<: rqH~lr"l<l ~ ~ 

136. Which of the following is known as backbone of auditing? 

(1) Verification of Assets (2) Internal Check 

(3) Vouching (4) Internal Audit 
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H"1ir<jid if il flI;it #l>8J1lT <;il ~ <;il ~ ~ "Ifill t ? 

(1) \"I<qf"d~I' q;r MM'i (2) 311'<1R'h ~ 

(3) ~I1IUH (4) 311'<1R'h #l>8J1lT 

137. Compliance of statutory requirements is the major concern of: 

(1) Internal Audit 

(3) Internal Check 

(2) Internal Control 

(4) External Audit 

~>llf.A;- 31HClI4dlaii' q;r 31jQI<.1'i CIiV!l ~ "I1T'l<1T t : 
(1) 311'<1R'h #l>8J1lT q;r (2) 311'<1R'h f.j'l'Olul q;r 

(3) 311'<1 R'h ~ q;r ( 4 ) 'l1ijI at<f;8J1lT q;r 

138. When audit is conducted at regular or irregular intervals through­

out the year, it is called as : 

(1) Interim audit 

(3) Continuous audit 

(2) Internal audit 

(4) Statutory audit 

Of'l #l>8J1lT'liT'! f.j~flld 'IT 31H'lf"ld 31'<1{1<.1 'R ~ q<f 'R f<!;<rr -;;mrr t iii -.it 
~t': 

( 1 ) 31 '<I RI1 #I;8J1lT 

(3) mrn #l>8J1lT 
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135. Which of the following is a feature of partnership? 

(1) Continuity of existence (2) Creation of law 

(3) Artificial person (4) Agreement 

f-1'"1f<"lf(!ld ii il 'h't.!-m <l1~~Rl "" <'f8;JUI i ? 
(1) ~1I~'ld 3lf+d'<'1 (2) fcrm;! qft d'l'iI 

(3) ~ "'1ftI; (4) <l4;;l1d1 

136. Selling is an element of : 

(1) Advertising 

(3) Trade 

fcrlI>'T ~ mer i : 

(2) Publicity 

(4) Manufacturing 

UP/201/1(ii) 

(1) f"l,UQ1 "" (2) ~ "" (3) 0l!JllR "" (4) f.!l!fur "" 

137.Business includes: 

(1) Commerce (2) Industry 

(3) Trade (4) Industry and Commerce 

0!I'l<l1~ ii <lfUJ[8d i : 
(1) 'llfOl"'"! 

(3) 0l!JllR 

(2) mrr 
(4) mrr ll:'i 'l I fO I "'"! 

138. Which of the following is not a feature of sole proprietorship? 

(1) Individual ownership 

(3) Unlimited liability 

(2) Individual management 

(4) Mutual benefit 

A'"1f<"lf(!ld ii il 'h't.!-m <'f8;JUI ~ \<lIf'1(iii "" "ftf i ? 
(1) O!If""ld \<ull:!(iii (2) O!If",' Id "If'PQ 

(3) 3l'lflf'1d ~11l.](iii (4) QRlAR'h <'11" 

43 P.T.O. 



UP/201/1(;) 

m 'liT ~ g31T <R "IlRT orri'rrr "f'! 

(1) "H<I{» 'lit ~ ~ ~ OfT'! 

(2) ~1<1{» -B ~ Jlll<f ~ OfT'! 

(3) ~~n1,1 'liT ~ ll>'I ~ OfT'! 

(4) 5Ii:Ulq~l> 'liT WRIT mIT if Qfl:<id'1 ~ OfT'! 

142. Which of the -following is not a source of funds ? 

(1) Purchase of machinery 

(2) Profit earned during the year 

(3) Issue of share capital 

(4) Long term loan raised 

H'"1W<!>d if -B 'lit.! m 'liT ~ ~t ? 

(1) ~~n'1,l 'liT ll>'I (2) qof it <fRR ~ <11'1 

(3) am 'Pit 'liT f'l'r~1 (4) fG>I'li1<1l1 ~ <i'r1r 

143. How many heads of income are there in the Income Tax 
Act,1961? 

(1) Three (2) Four (3) Five (4) Six 

31T'I'R aWlf.r:n:!, 1961 if 31T<i it f<I;(R ~ t ? 

(1) <fA (2) 'In: (3) -qfq (4) ;;: 

144. Under the Income Tax Act, 1961 the maximum marginal rate of 
tax for an individual is : 

31T'I'R 31f'lf.r:rl, 1961 if "'" "'Iftn it fW't 31f_ W<mr 'lil: 'lit ~ t : 
(1) 50% (2) 40% (3) 30% (4) 20% 
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145. Medical Allowance under salary head is : 

(I) Fully taxable (2) Partly taxable 

(3) Exempt (4) Deductible 

m 'If\$!; ij filfq;ffil 'lUI % : 
( 1 ) 'r"f if> < 41 "1 

(3) if><!jfti 

(2) 31ifuifi if> <41' ~ 
(4) <liilcft <iinr 

146. Income accruing from the business situated in Pakistan is in­
cluded in the taxable income of : 

(1) Resident (ordinarily residen~) assessee 

(2) Not ordinarily resident assessee 

(3) Non- Resident assessee 

(4) None of the above 

qlfq;«IH ij ~ i4'HII~ it aqlf.;fd awl fq;Bih if><~I'~ awl ij BfAlf<?ld 1%'lT 
orriPrr ? 

(1) H<'II\i1 (Blm<"! H<'II\i1) if><<;ldl ij 

(2) 3lBIm<"! f1<'11\i1 if><<;1(I1 ij 

(3) "lf1<'1Rll if><<;ldl ij 

(4) d q {hI> JlR:ft ij "'It! 

147. Which method of costing is used in Motor Car Industry? 

(1) Operating Costing (2) Process Costing 

(3) Multiple Costing (4) Job Costing 

..m "i'f>R "3-.irr ij 'Ii'R "ill <'IfIKI M>r m qij "fRfi % ? 
( 1 ) q [{ill <"11 <'IfIKI (2) 1lIlPlT <'IfIKI 

(3) ~>r <'IfIKI (4) "If'1 <'IfIKI 
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148. Machine Hour Rate is a method of absorption of : 

(1) Factory overheads (2) Administration overheads 

(3) Selling overheads (4) Distribution overheads 

11'11\1 <t2:T <;\ ill "pm 4 0 1 qi\ Rf'l % : 
(1) 'liIVSlHI dqR6'!~ "'liT 

(3) f<ffi;;:r d q R 6'! ~ "'liT 

(2) ~~II{H dqR6'!~ "'liT 

(4) 

149. In a cost-sheet stock of work in progress is adjusted at the stage 
of: 

(1) Prime Cost (2) Works Cost 

(3) Cost of Production (4) Cost of Sales 

Bl'l1l-'Bf'Ii it ~ q;rf iii Bfq; "'liT ("I A 1 ~1 "I '1 fo!;u «R '1< Wn "IT<!1 % ? 

( 1 ) ~ Bl'l1l '1< (2) 'Ii 1 \@'11 ( "l'Rf) Bl'l1l '1< 

(3) e<"1T0 Bl'l1l '1< (4) ~ Bl'l1l '1< 

150. If cash received on any contract account amounted to Rs. 
1,60,000 being 4/5 of the work certified then amount of work 
certified vdll be : 

(1) Rs.32,000 (2) Rs. 1,28,000 

(3) Rs. 1,92,000 (4) Rs.2,00,000 

f<I;Bl ~ '&Tffi '1< >IT'<! ~ "lfi; 1,60, 000 '0. ;;it f<I; Q A 1 fD 1 d q;rf 4/ 5 "'liT ;it, 
<IT QAlfiJld q;rf ;itrrr : 
(1) 32,000 '0. "'liT 

(3) 1,92,000'0. "'liT 
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(2) 1,28,000 '0. "'liT 

(4) 2,00,000 '0. "'liT 
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(f" g/M"'I ;j; JfS!;ff 3{fqfUf ~ rrr "'" anr -rnr ;j; .r.it' 'l"if rrr 
~ :ft1'fI- o;wiI 'I1f'f - rzrrfe rR it tt fffli) 

1. >IV'! ~rkl'lil ~ il; 10 flr;g il; 3R): m ~ <'I f<I; ~ if ri 'l'S ~ t am ~ 
>IV'! ~ >m'tl ~rkl'lil ~"~ 'Iril;;nil '11: ~ 'f'RT "«hI(1 'lil\l-~ <lit ~ ~ 
~ 'lit ~ ~rkl'lil = "" <'II 

2, • """ if fi%Iq;1 ffirff ~- rnr ;j; Jlfil/'i<RI, fffiID 'IT ~ ~ .n 1[ffi q;[1Ti[ WI 
if '! "(1lif I 

3, anr - rnr J/WT it f~"l"I'" I I Pt" 1ft 'it,-JilH 1fI fiqil"rii 'iJffT anr - rnr m ~ wittIr I 
~ anr-rnr "" it '!!"Ii",,, fifi'lT wittlrl 

4, aJ1RTOljl!>'1i'li (!'IT 6if(-11'! q;r ~ Wlll 3Wl1:UT-'l'S '11: iR it f.!>lfful <"!R '11: fu-@I 

5, anr- rnr ;j; JfS!;ff ~ rrr rR it JI'RT J/jMiih r;,,,{fiH f"IT'f rrr fffli'11'" #it ~ '[fIT' oft 

7TffT ih'f ~I .,.r-.,.r Jllq,IOih' if ...r 1fl"{- gti'ililil "" ~ 11." it?: "" """ :ffirff f'!IT'if 
rrr ffflii 

6, 3ft. ~. J/Tfo rnr rrr J/jib>liih ~ .,,"gfiaihl !il9l1r " it?: !il9l1r (.m; oft{ it) 11." 
.. "gfiaihl rrr Jljlh4iih Ji1< 3fto ~o J/Tfo rnr !il9l1r <FfI .filfil.r if 3qfiM€I" <FfI31J'dir 
m'il 

7, 34ifm .fi.tfil<ir if oft{ rfI q/'i,,"" "'''' f.rfI'<fib mr Rmfiilrl tr.rr ~ 31'<l'" '11' l(ih" ~ 
_ "" '1I<i/>r '"'" wittIr I 
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